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1. Look at the graph in Fig. IV given below. Each is

the graph of y = p (x). where p (x) is a polynomial.

For each of the graph, find the number of zeroes


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8RFZhye9v4ww

of p (x)

o Watch Video Solution

2. Look at the graph in Fig. IV given below. Each is
the graph of y = p (x). where p (x) is a polynomial.

For each of the graph, find the number of zeroes


https://dl.doubtnut.com/l/_8RFZhye9v4ww
https://dl.doubtnut.com/l/_EuEzWyKvN0wr

of p (x)

TI

o Watch Video Solution

3. Look at the graph in Fig. IV given below. Each is

the graph of y = p (x). where p (x) is a polynomial.


https://dl.doubtnut.com/l/_EuEzWyKvN0wr
https://dl.doubtnut.com/l/_HKhSydxDswCJ

For each of the graph, find the number of zeroes

of p (x)

o " |

o Watch Video Solution

4. ook at the graph in Fig. IV given below. Each is
the graph of y = p (x). where p (x) is a polynomial.

For each of the graph, find the number of zeroes


https://dl.doubtnut.com/l/_HKhSydxDswCJ
https://dl.doubtnut.com/l/_DSlvrqINwjc7

of p (x)
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0 Watch Video Solution

5. Look at the graph in Fig. IV given below. Each is
the graph of y = p (x). where p (x) is a polynomial.

For each of the graph, find the number of zeroes


https://dl.doubtnut.com/l/_DSlvrqINwjc7
https://dl.doubtnut.com/l/_k8uSurI7aLba

of p (x)
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° Watch Video Solution

6. Look at the graph in Fig. IV given below. Each is
the graph of y = p (x). where p (x) is a polynomial.

For each of the graph, find the number of zeroes


https://dl.doubtnut.com/l/_k8uSurI7aLba
https://dl.doubtnut.com/l/_WTIDDsxb6vlp

of p (x)
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° Watch Video Solution

7.The graphs of y - p (x) are given in Fig. below, for

some polynomials p(x). Find the number of zeroes


https://dl.doubtnut.com/l/_WTIDDsxb6vlp
https://dl.doubtnut.com/l/_iowWPogpQ0kh

of p (x), in each case.

-

o Watch Video Solution



https://dl.doubtnut.com/l/_iowWPogpQ0kh

8.The graphs of y - p (x) are given in Fig. below, for
some polynomials p(x). Find the number of zeroes

of p (x), in each case.
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o Watch Video Solution



https://dl.doubtnut.com/l/_b56SZCOwtkLU

9.The graphs of y - p (x) are given in Fig. below, for
some polynomials p(x). Find the number of zeroes

of p (x), in each case.

i

° Watch Video Solution



https://dl.doubtnut.com/l/_68IWuhiYRJsB
https://dl.doubtnut.com/l/_ODWifkKhJXjn

10. The graphs of y - p (x) are given in Fig. below,
for some polynomials p(x). Find the number of

zeroes of p (x), in each case.
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o Watch Video Solution



https://dl.doubtnut.com/l/_ODWifkKhJXjn

11. The graphs of y - p (x) are given in Fig. below,
for some polynomials p(x). Find the number of

zeroes of p (x), in each case.
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o Watch Video Solution



https://dl.doubtnut.com/l/_pXd9QKSC1pV9

12. The graphs of y - p (x) are given in Fig. below,
for some polynomials p(x). Find the number of

zeroes of p (x), in each case.
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° Watch Video Solution



https://dl.doubtnut.com/l/_JGMxnBhtVAqq

13. Find the zeroes of the following quadratic
polynomials and verify the relationship between

the zeroes and the coefficients.: 2> — 2z — 8.

° Watch Video Solution

14. Find the zeroes of the following quadratic
polynomials and verify the relationship between

the zeroes and the coefficients. : 4s®> — 4s + 1.

° Watch Video Solution



https://dl.doubtnut.com/l/_fH9THW0x9YTj
https://dl.doubtnut.com/l/_WUCJyB1BHZV6

15. Find the zeroes of the following quadratic
polynomials and verify the relationship between

the zeroes and the coefficients.: 622 — 3 — Tz .

° Watch Video Solution

16. Find the zeroes of the following quadratic
polynomials and verify the relationship between

the zeroes and the coefficients. : 4u? 4 8u .

° Watch Video Solution



https://dl.doubtnut.com/l/_6AiH2L10kohH
https://dl.doubtnut.com/l/_qbRdZhQF5dsi

17. Find the zeroes of the following quadratic
polynomials and verify the relationship between

the zeroes and the coefficients.: ¢ — 15.

° Watch Video Solution

18. Find the zeroes of the following quadratic
polynomials and verify the relationship between

the zeroes and the coefficients.: 322 — = — 4.

° Watch Video Solution



https://dl.doubtnut.com/l/_knnr2xkGhrWl
https://dl.doubtnut.com/l/_GopKEF4vjBts

19. Find a quadratic polynomial each with the
given numbers as the sum and product of its

zeroes respectively. : T 1.

° Watch Video Solution

20. Find a quadratic polynomial each with the

given numbers as the sum and product of its

1

zeroes respectively. : 1/2, 3

° Watch Video Solution



https://dl.doubtnut.com/l/_Rdlx1FhLDCLP
https://dl.doubtnut.com/l/_xWvUpomjp0jz

21. Find a quadratic polynomial each with the
given numbers as the sum and product of its

zeroes respectively.: 0, /5 .

° Watch Video Solution

22. Find a quadratic polynomial each with the
given numbers as the sum and product of its

zeroes respectively. : 1,1

° Watch Video Solution



https://dl.doubtnut.com/l/_iS3qc8fqL2aR
https://dl.doubtnut.com/l/_bF3fbFYjKSdn

23. Find a quadratic polynomial each with the
given numbers as the sum and product of its

zeroes respectively. : -1/4,1/4 .

° Watch Video Solution

24. Find a quadratic polynomial each with the
given numbers as the sum and product of its

zeroes respectively.: 4,1.

° Watch Video Solution



https://dl.doubtnut.com/l/_2X9jl0pzR6w6
https://dl.doubtnut.com/l/_PWaUlnX6oGcy

25. Apply the division algorithm to find the
quotient and remainder on dividing p (x) by g (x)
as given below

p(z) = z° — 32> + 5z — 3, g(z) = 2> — 2.

° Watch Video Solution

26. Apply the division algorithm to find the
quotient and remainder on dividing p (x) by g (x)
as given below

p(z) =z — 3z +4x +5,9(x) =z +1—=z.

o Watch Video Solution



https://dl.doubtnut.com/l/_KWmdkax6VxSS
https://dl.doubtnut.com/l/_C5F10a2qQ5xa

27. Apply the division algorithm to find the
quotient and remainder on dividing p (x) by g (x)
as given below

p(z) = z* — 5z + 6, g(z) = 2 — 2%,

° Watch Video Solution

28. Check whether the first polynomial is a factor
of the second polynomial by applying the division

algorithm : ¢ — 3, 2t* 4+ 3t — 2t2 — 9t — 12.

° Watch Video Solution



https://dl.doubtnut.com/l/_C5F10a2qQ5xa
https://dl.doubtnut.com/l/_7FNBqkNcT7nG
https://dl.doubtnut.com/l/_PV7m9Q2PEcte

29. Check whether the first polynomial is a factor
of the second polynomial by applying the division
algorithm

2?2 + 3z + 1,32 + 523 — 722 + 22 + 2.

o Watch Video Solution

30. Check whether the first polynomial is a factor
of the second polynomial by applying the division
algorithm

2> — 3z +1,2° — 42 + 22 + 3z + 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_Q6PodG4luZon
https://dl.doubtnut.com/l/_PQKJlQBqNmFA

31. Obtain all other zeroes of

3z + 62> — 222 — 10z — 5 if two of its zeroes

5 . 5
are — and — - .
3 3

° Watch Video Solution

32.0n dividing z° — 3z® + z + 2 by a polynomial
g (x), the quotient and remainder were x - 2 and -

2x + 4 respectively find g (x).

o Watch Video Solution



https://dl.doubtnut.com/l/_PQKJlQBqNmFA
https://dl.doubtnut.com/l/_DLl9YAHbieVl
https://dl.doubtnut.com/l/_XnSkViaAjOOs
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33. Give examples of polynomials p (x), g (x), q (x)
and r (x), which satisfy the division algorithm and :

deg p (x) =deg q.

° Watch Video Solution

34. Give examples of polynomials p (x), g (x), q (x)
and r (x), which satisfy the division algorithm and :

degr(x)=0.

o Watch Video Solution



https://dl.doubtnut.com/l/_J1dwj3V5jKlh
https://dl.doubtnut.com/l/_aSq36MfuphIn

35. Give examples of polynomials p (x), g (x), q (x)

and r (x), which satisfy the division algorithm and :

deg p (x) =deg q (x) .

° Watch Video Solution

36. Verify that the number given alongside of the
cubic polynomials below are their zeroes. Also
verify the relationship between the zeroes . and
the coefficients in each case

1
2x3+x2—5x+2,§,1, —2.

o Watch Video Solution



https://dl.doubtnut.com/l/_HqCckoTOFAqW
https://dl.doubtnut.com/l/_nCDQDTInujxF

37. Verify that the number given alongside of the
cubic polynomials below are their zeroes. Also
verify the relationship between the zeroes . and
the coefficients in each case

3 4+ 4z? + 52z —2,2,1,1.

o Watch Video Solution

38. Find a cubic polynomial with the sum, sum of
the product of its zeroes taken two at a time, and

the product of its zeroes as 2, - 7, - 14 respectively.

l ° WA _oL_L w22l ~_ ..o _


https://dl.doubtnut.com/l/_nCDQDTInujxF
https://dl.doubtnut.com/l/_Z0wbd5Ow1j7u
https://dl.doubtnut.com/l/_fFKp0dbPKmb5
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39. If the zeroes of the polynomial

23 —3z> +z +1larea-b,a,a+b,findaandb.

o Watch Video Solution

40. If two zeroes of the polynomial
z* — 62° — 2622 + 138z — 35 are 2+ /3 , find

other zeroes.

° Watch Video Solution



https://dl.doubtnut.com/l/_fFKp0dbPKmb5
https://dl.doubtnut.com/l/_6oEIoQsUKv9m
https://dl.doubtnut.com/l/_7b924RgiQI4j

1. The graphs of y = p (x) are given in figure below,
for some polynomials p (x). Find the number of

zeroes of p (x), in each case.
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° Watch Video Solution



https://dl.doubtnut.com/l/_aXxBm0jLCzWP

2.The graphs of y = p (x) are given in figure below,
for some polynomials p (x). Find the number of

zeroes of p (x), in each case.
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o Watch Video Solution

3. The graphs of y = p (x) are given in figure below,

for some polynomials p (x). Find the number of


https://dl.doubtnut.com/l/_heiPsMMJSSfL
https://dl.doubtnut.com/l/_VFJPqi0AlmMt

zeroes of p (x), in each case.
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° Watch Video Solution

4.The graphs of y = p (x) are given in figure below,

for some polynomials p (x). Find the number of


https://dl.doubtnut.com/l/_VFJPqi0AlmMt
https://dl.doubtnut.com/l/_ripfMClUPlzP

zeroes of p (x), in each case.
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o Watch Video Solution

5.The graphs of y = p (x) are given in figure below,

for some polynomials p (x). Find the number of


https://dl.doubtnut.com/l/_ripfMClUPlzP
https://dl.doubtnut.com/l/_yyVnInuqCrs0

zeroes of p (x), in each case.
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° Watch Video Solution

6. The graphs of y = p (x) are given in figure below,

for some polynomials p (x). Find the number of


https://dl.doubtnut.com/l/_yyVnInuqCrs0
https://dl.doubtnut.com/l/_fQtZsEteSFhs

zeroes of p (x), in each case.
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° Watch Video Solution

7.The graphs of y = p (x) are given in figure below,

for some polynomials p (x). Find the number of


https://dl.doubtnut.com/l/_fQtZsEteSFhs
https://dl.doubtnut.com/l/_72GSmNCngcRp

zeroes of p (x), in each case.
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o Watch Video Solution

8. The graphs of y = p (x) are given in figure below,

for some polynomials p (x). Find the number of


https://dl.doubtnut.com/l/_72GSmNCngcRp
https://dl.doubtnut.com/l/_49Jl2aBmeXiI

zeroes of p (x), in each case.
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° Watch Video Solution

9.The graphs of y = p (x) are given in figure below,

for some polynomials p (x). Find the number of


https://dl.doubtnut.com/l/_49Jl2aBmeXiI
https://dl.doubtnut.com/l/_eX5HZ7WiMkpV

zeroes of p (x), in each case.
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° Watch Video Solution

10. The graphs of y = p (x) are given in figure

below, for some polynomials p (x). Find the


https://dl.doubtnut.com/l/_eX5HZ7WiMkpV
https://dl.doubtnut.com/l/_2OXnrN6o5oLi

number of zeroes of p (x), in each case.
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o Watch Video Solution

1. Find the zeroes of the following quadratic
polynomials and verify the relationship between

the zeroes and the coefficients.: 222 — 8z + 6.

° Watch Video Solution



https://dl.doubtnut.com/l/_2OXnrN6o5oLi
https://dl.doubtnut.com/l/_Nu9z4hQLiRab

12. Find the zeroes of the following quadratic
polynomials and verify the relationship between

the zeroes and the coefficients. : 322 4+ 5z — 2.

° Watch Video Solution

13. Find the zeroes of the following quadratic
polynomials and verify the relationship between

the zeroes and the coefficients.: 2 + 7z + 10.

° Watch Video Solution



https://dl.doubtnut.com/l/_eIqz249eNcfA
https://dl.doubtnut.com/l/_0voBCtlvtSsC

14. Find the zeroes of the following quadratic
polynomials and verify the relationship between

the zeroes and the coefficients.: 22 — 3.

° Watch Video Solution

15. Find the zeroes of the following quadratic
polynomials and verify the relationship between

the zeroes and the coefficients.: 2 + 21/2z — 6.

° Watch Video Solution



https://dl.doubtnut.com/l/_1qTk5CTJKXKM
https://dl.doubtnut.com/l/_qDWxEuZ4WdsQ

16. Find a quadratic polynomial each with the
given number as the sum and product of its

zeroes respectively.: 2/3,(-1)/3 .

° Watch Video Solution

17. Find a quadratic polynomial each with the

given number as the sum and product of its

zeroes respectively.: —, 24/2.
2

o Watch Video Solution



https://dl.doubtnut.com/l/_ZJw88KfVj5WJ
https://dl.doubtnut.com/l/_ZfYRN7hKYteU

18. Find a quadratic polynomial each with the
given number as the sum and product of its

zeroes respectively.: -a, (-1)/a.

° Watch Video Solution

19. Find a quadratic polynomial each with the
given number as the sum and product of its

zeroes respectively.: 1/3,1.

° Watch Video Solution



https://dl.doubtnut.com/l/_6fBTDWf7F2XG
https://dl.doubtnut.com/l/_N0j8LhCrqUb8

20. Find a quadratic polynomial each with the
given number as the sum and product of its

zeroes respectively. : 1/2, 34/2.

° Watch Video Solution

21. Find a quadratic polynomial each with the
given number as the sum and product of its

zeroes respectively. : -3,2

° Watch Video Solution



https://dl.doubtnut.com/l/_ntduPaHQ0Us8
https://dl.doubtnut.com/l/_I08omSdRsdNE

22. Find the zeroes of the following cubic
polynomials and verify the relationship between
the zeroes and the  coefficients.

223 — bx? — 14z + 8"

o Watch Video Solution

23. Find the zeroes of the following cubic
polynomials and verify the relationship between
the zeroes and the  coefficients.

3 — 4z’ + 52 — 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_2qq3oV5uCHXQ
https://dl.doubtnut.com/l/_anz0dumIn0iU

24. Find the zeroes of the following cubic
polynomials and verify the relationship between
the zeroes and the  coefficients.

223 + 22 — 5z + 2.

° Watch Video Solution

25. Find the zeroes of the following cubic
polynomials and verify the relationship between
the  zeroes and the  coefficients.

:c3—2:132—:v—|—2.

| ° A _o_L w2l ~_ ..o _
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26. Find the zeroes of the following cubic
polynomials and verify the relationship between
the  zeroes and the coefficients.

xS — 4z’ + 2+ 6.

° Watch Video Solution

27. Verify that the numbers given alongside the
cubic polynomials below are their zeroes. Also

verify the relationship between the zeroes and the


https://dl.doubtnut.com/l/_7YRvdPtWmFQh
https://dl.doubtnut.com/l/_OHCxquuUVBKv
https://dl.doubtnut.com/l/_uAHQl2HON7wZ

coefficientsin each case.

5
223 — 3z% — 17z + 30, -3,2, 5.

° Watch Video Solution

28. Verify that the numbers given alongside the
cubic polynomials below are their zeroes. Also
verify the relationship between the zeroes and the
coefficients in each case. : z° — 622 + 11z — 0, ;

1,2, 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_uAHQl2HON7wZ
https://dl.doubtnut.com/l/_uBJSgRFZjC0V

29. Verify that the numbers given alongside the
cubic polynomials below are their zeroes. Also
verify the relationship between the zeroes and the
coefficientsin each case. : z° + 13z% + 32z + 20,

-1,-2,-10 .

O Watch Video Solution

30. Apply the division algorithm to find quotient
and remainder on dividing p (x) by g (x) as given
below

p(z) =z* — 32>+ 22 +5,9(x) =z — 1.



https://dl.doubtnut.com/l/_WXH01wUPRrEH
https://dl.doubtnut.com/l/_Afqac2DhrZIs

| & Watch Video Solution

31. Apply the division algorithm to find quotient
and remainder on dividing p (x) by g (x) as given

below: p(z) = y° + y° + 2y + 3, g9(z) =y + 2.

° Watch Video Solution

32. Apply the division algorithm to find quotient
and remainder on dividing p (x) by g (x) as given
below : p(z) = 2z* + z° — 142® — 152 — 8

g(x) = z* + 3z + 2.

l ° WA _o_L w2l ~_ ..o _
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33. Apply the division algorithm to find quotient
and remainder on dividing p (x) by g (x) as given
below

p(z) =2° — 622+ 22 —4,g(z) =z — 1.

0 Watch Video Solution

34. Apply the division algorithm to find quotient
and remainder on dividing p (x) by g (x) as given

below: p(z) = 22* + 3z + 1,g(z) = = + 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_unb8ZTDcDu64
https://dl.doubtnut.com/l/_34JjHsjiLR90
https://dl.doubtnut.com/l/_mPa6NyfFpsUl

35. Apply the division algorithm to find quotient
and remainder on dividing p (x) by g (x) as given

below

p(z) = 3z° + 2 + 2z + 5, g(x)1 + 2z + 2% .

° Watch Video Solution

36. Check whether the first polynomial is a factor
of the second polynomial by applying the division

algorithm

g(z) =2z — 1,p(x) = 42® — 122% + 142 — 3.



https://dl.doubtnut.com/l/_mPa6NyfFpsUl
https://dl.doubtnut.com/l/_dIMJRIigESfP
https://dl.doubtnut.com/l/_OcDtpB5ZLash

| o Watch Video Solution

37. Check whether the first polynomial is a factor
of the second polynomial by applying the division
algorithm

g(z) = z* — 3z + 2, p(x)2z* — 62> + 3% + 3z — 2

° Watch Video Solution

38. Check whether the first polynomial is a factor

of the second polynomial by applying the division


https://dl.doubtnut.com/l/_OcDtpB5ZLash
https://dl.doubtnut.com/l/_yjNbvlR4O1WI
https://dl.doubtnut.com/l/_ysJq9Mhhmx0R

algorithm

g(z) = 3z — 2, p(z) = 32° + 2% — 20z + 12.

° Watch Video Solution

39. Check whether the first polynomial is a factor
of the second polynomial by applying the division

algorithm

9(y) =y’ —3y+2,p(y) =y* —6y° + 11y — 6.

0 Watch Video Solution



https://dl.doubtnut.com/l/_ysJq9Mhhmx0R
https://dl.doubtnut.com/l/_LYOQyuxl5cQe

40. Check whether the first polynomial is a factor
of the second polynomial by applying the division
algorithm

g(t) =3 + 3t + 2, p(t) = 2t* + 3 — 144> — 19t — 6

O Watch Video Solution

41. Check whether the first polynomial is a factor
of the second polynomial by applying the division

algorithm


https://dl.doubtnut.com/l/_usaKE4rUdGfg
https://dl.doubtnut.com/l/_nkYS2Y68macC

g(z) = 3z + 10, p(z) = 92> — 27z* — 100z + 300

° Watch Video Solution

42. Check whether the first polynomial is a factor
of the second polynomial by applying the division
algorithm

glz) =2z —1—2° p(r) =32> —2* -3z +5.

0 Watch Video Solution



https://dl.doubtnut.com/l/_nkYS2Y68macC
https://dl.doubtnut.com/l/_3xeRbZO55MaR

43. Obtain all other zeroes of t3 — 3t> — 10t + 24

if twoof its zeroes are 2and-3.

° Watch Video Solution

44, Obtain all other zeroes of

3 2

— y + 6 if two of its zeroes are 1

yt+ 1y — Ty

and - 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_QkJMo7rGni2l
https://dl.doubtnut.com/l/_2X6efMTWGh1g

45, Obtain all other zeroes of
22% + 23 — 142% — 192 — 6 if two of its zeroes

are-land -2.

o Watch Video Solution

46. Obtain all other zeroes of
y* + 10y + 35y% + 50y + 24 if two of its zeroes

are-1and -3.

° Watch Video Solution



https://dl.doubtnut.com/l/_ukJDGZHQ3Y6L
https://dl.doubtnut.com/l/_ToaadhSeNac5

47, Find all the zeroes of

2¢* — 323 — 322 + 62 — 2if two of its zeroes are

Vv2and —4/2.

° Watch Video Solution

48.Find all the zeroes of given polynomial if their
other zeroes are given alongside of the

polynomials : t* + 6t + 11t + 6, — 1.

0 Watch Video Solution



https://dl.doubtnut.com/l/_A1ihN9LYU15y
https://dl.doubtnut.com/l/_vNlLbNUcRZnI

49, Find all the zeroes of given polynomial if their
other zeroes are given alongside of the

polynomials : y4 — Ty 4+ 9y® 4+ Ty — 10,2, 5.

° Watch Video Solution

50. Find all the zeroes of given polynomial if their
other zeroes are given alongside of the

polynomials : z° — 2z — 29z — 42, 7.

° Watch Video Solution



https://dl.doubtnut.com/l/_9M2IC5yCyWLZ
https://dl.doubtnut.com/l/_Zi8hAKSksozU

51. Find all the zeroes of given polynomial if their
other zeroes are given alongside of the

polynomials : 2zt — Tx® — 1322 + 63z — 45,1, 3

° Watch Video Solution



https://dl.doubtnut.com/l/_bND1YqxchGbg

